Section A (20 marks) Marked by KH1

CRAN B KO O I< START A NEW BOOKLET

SCHOOL 1. Factorise the following:
a, % -x 2
b, 9(x+y)-121 2
[ 10x+15y—4xz~6yz 2
d. —4x* +12x+7 2
e 4% ~12x* - x 43 3

2. Fully simplify the following:

, a 2x~2y 2
Sy-5x
T b. X+l x+2 ‘ )
R 2 3
!
Dy —
| ¢ ————xl + f ); 2
,ij. -y X -y .
Total Marks: - 80. . . -
) . 4 Koyt Ay 3

. e P-2x+y" x—
Time allowed: IOO,mlnutés vy Y

| All questlons mu§t be a,llSWeled in a separate writing booklet
Show} all wOﬂ(lng td gam ‘full marks
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Section B (20 marks) Marked by HRK Section C (20 marks) Marked by TMS

START A NEW BOOKLET START A NEW BOOKLET
L Solve these quadratic equations: 1 If cos6=0.55, find the value of 6 to the nearest degree.
a, p(p+6)=0 1
. 2. If tan® =0.55, find sinfcorrect to 3 decimal places.
b. Bx+5)2x~1)=0 1
3 ¢ —3)(x+4)=8 2 .
¢ (r=3)(x+4) ¢ 3. Evaluate ___ﬁ‘lﬁﬂ_ correct to 2 significant figures,
: tan 8’ +sin 53
4, Find the value of @ correct to the nearest degree,
2. Factorise and solve the following:
’ 8.6 cm
a. Tm-m* =0 2 ]
2 =
b,y -3y-70=0 2 132 om
C. 502 ~11142=0 2
3. Solve the equation x*+6x+7 =0 by completing the square, s Find the length x in the following triangle, correct to two decimal places?
Leave your answer in surd form, 3 .
66"
4, a State the quadratic formula 1 xm
b. Solve the equation ¢ ——2-1—— =5, giving roots correct to 3 decimal places. 3 114
a
6. Find the value of x correct to | decimal place. .
5, Using v=x?, solve x* ~5x* +4=0, 3
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7. A plane flies on a bearing of 150° from A to B, What is the bearing of A from B?

1 9, The location of three towns, Ubiri (U), Vanati (V), and Wallarah (W) is shown in the
diagram. Vanati is due east of Ubiri. .

N
AN1S0° NOT TO
\} SCALE
R
8. The base of a lighthouse, D, is at the top of a cliff 168 metres above sea level, NOT TO SCALE
The angle of depression from D to a boat at C is 28°. ] . ) .
The boat heads towards the base of the cliff, A, and stops at B. a What is the bearing of W from V? 1
a What is the angle of depression from D to B, correct to the nearest minute
1
b. How far south of V is W? 2
b. How far did the boat travel from C to B, correct to the nearest metre?
2

10. A plane flew 45.8 km due north from X to ¥, then turned and flew due west to Z,
The bearing of Z from X is 285°,

a, Draw a fully labelled diagram clearly showing all the information above,
1
4
b, Find the distance XZ, ' 2
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Section D (20 marks) Marked by RABS
START A NEW BOOKLET

1 Find the value of x in the following, showing all working,
Full marks may not be awarded if you use a calculator.

a. cos x =sin31° 1
b. cos2x" =sin3x° 2
[
2. Solve the equations below, correct to the nearest minute.
a, sin@ =4cosd 2
6 2
b, +—= 2 2
sin@ cos@

. sm(90~9)tam9=1

3. Prov - 2
sin@
Ensure that you show all steps of working,
4. Find the exact value of each expression, showing all working.
Full marks may not be awarded if you use a calculator,
Ensure that your answer is a single fraction with a rational denominator.
a, tan® 30° 2
b, sin45” +cos30° - 2
c. tan® 60° ~cos? 60" 2
5, The height # (in metres) of a lump of concrete, t seconds after it has been thrown
vertically upwards is given by:
h=300-57
a After what time is the concrete at a height of 40m? 3
b, At what time does the concrete return to earth? 2
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